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Danny has two boxes of sweets.
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He puts the sweets into smaller
bags.

There are S in
each bag.

How many bags can Danny fill using
all the sweets?
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Here are 3 number patterns.
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What is the sum of the three missing

numbers?

2 Work out the value of each symbol.

A+h=m1
A+‘=3o
* e
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Tim has two packs of pop.
Each pack holds 24 cans.

Sally has five smaller packs.
Each of her packs holds 6 cans.

How many more cans of pop does
Tim have?

2 Here is some money.
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. The money is shared between 5
girls and 2 boys.

Each girl receives €3

How much money does each boy
receive?




